8.

micronutrient for plants 7
(a} Iron
(b} Manganese
(e}

{di

Magnesium

Chloring

Xylem in the plants are responsible for the
transport of

(a) Water
(1]
)

(d)

Water and dissolved minerals
Gases
Food

Which one among the following hormones
inhibits the growth activity in plants?

(a)
(b)
el
()

Auxing
Cytokinins
Abscisic acid

Gibberellins

e

i° Which of the following  category of

hiomolecules does Starch belong to ?

i
5

Protein
Carbohydrate
Lipid

Nueleic acid

(a)
 (h)
(e}

(d)

Which one among the following is not a
feature of Xerophytes ?
Smaller leaves

Large number of stomala

Waxy cuticle

ol ; |
Which ene among the following is mot o9

.

10.

{d) Stomata in pits

U-S-GKL

(3-A)

Hanlapliytas are the planta thatl grow on which

one, among the following categorios of soil 7

{n)  Acidic =il
(b1 Saline soil
(e} Black soil
{d) Sandy soil

Which one among the following i3 not a part af

waecular bundle in plants ¥

(a) Phloem

(b} Eylem

(¢) Cambium
id) Endodermis

In which one among the following medinms
would the speed of sound be masximum =

(a) Distilled water
(h) Secawater

(e)  Drinking water
{d) Methanol

Which organelle in -animal cells can digest

foreign materials 7

{a) Endoplasmic reticulum
(b) Lysosome

{c) Golgi body

(d)  Mitochondria

Photosynthesis that converts light energy into
chemical energy by the plants, involves
e use of green pigments of leaves called
chlorophyll. The only structure in a leaf that

hosts ehlorophyll is

(a) Nucleus

{b) Ribopsome

ie) Chloroplast
(d)  Chromosome




T
rqﬁﬁbq IL Tn -.'i'|1|-.‘4| of lhl- ﬂ‘"““—i“ﬂ L'lJHuiliH in
dispersing medinm n liquid %

&y (a) Mist
:!‘5'{% [ Foam

{e) Jelly

i :%f; il

Shaving créam
12, The two isotopes of elementa] chiorineg are :

i e
ih) e and

a5 a0
- ol
I'-‘t' and e

s 3
(g ; o

I
o
R le
Fips

Which one among the following metals is pot

gtored under oil 7

(a)  Sedium

(b) Rubidium
Potassium

Lithium

Potassium nitrate is not used :
() asa fertilizer

ftb)  in medicine

lle) in making punpowder

(d) ssa preservative of meat products

J-S-GKL

The surfaco of the coneroto atrocture of n poew

congtruetion & covered with stenw/gunny bags

by wotting, This iz done to

(n)  provent st evaporntion, withl hydestion
has proceaded weall

{b)  protect the conerele structurs from
eonlamination by dust particles

(e} prevent development of any fongus on
the surface
give amoother and cleaner surface over
coment strocture

Which one among the following statements for

the gases mentioned bhelow 18 not correct. ?

ta} Hydrogen has 3 isotopes.

(b} Helium ig a commonly used gad in
electric bulbs.

(e)  Oxypen is used to burn fuel in rocket
engines in spacecraft.

Mitrogen can be used in gaseous form to
replace air in food packaging.

Mateh List-1 with Ligt-1I and =select the correct
answer using the code given below the Lists
Ligt-T List-IT
(Trade Neme) (Chémical Name)
Bleaching
powder
Baking soda

Sodium
bicarbonate
Sodium earbonate,
10 water

Caleciom
cxychloride
Caleium sulphate,

Washing sada

Plaster of
Paria P
E waler

Code ;

ia)
(b}
el
(d)




Which oncamong the following atatements is A
Bt irue for glass 7
dium silicate is known s water glass,
Grlass is also callwd super cooled liquid,
Crystallinity develops on cooling of the
molten mass of the glass,
Coloured. glasses ean be mads by adding
different colouring materials, 22.
g8 Which one among the following is responsible
| for determining the chemical properties of an
element 7
fal Protons 23
(h! Electrons
i(c) Neutrons
Md) Nucleus
& Which one among the following is used in|g,
bleaching of paper ?
{a) Chloride
b} Chlorobenzene
Ammonium chloride
Hydrochloric acid
_GKL (7T-A)

K-roys can be used to;
1 ingpect welded joints between two motal
ports of a machine,

2, study structure of erystals,

Salect the answer using the code given below :

(a) 1only

(b} 2only

(e} DBothland2
{d) Neither 1 nor 2

Which one of the following heat transfers is.an

example of convection ?

(a)  Heating of food in & microwave oven

(b}  Boiling water in a pot on A gas stove

{¢) Feeling the warmth in sun

{d) Heating a brass rod at one end and

obgerving the temperature rise at the
ather end

The phenomenon of rambow formation by
water droplets involves

{a) single refraction of sunhght

ih)  one internal reflection of sunlight

(c) twointernal reflections of sunlight

{d) both refraction and internal reflection of

sunbight

Ozone hole 15 a region over :

Aa) the Antarctic caused mainly by CFC
gases,
(b) the Antarctic caused mainly by carbon
dinxide gas.
(¢) the Arctic caused mainly by CFC gases.
(d) the Arctic caused mainly by carbon

dipxide gas.




uw %
ﬂfl&ha' m oh of the III1I1"""“'”I nre the major mid

dian Spnee  Rivs nrely  Oreps
s 'ﬂ' {nelial ! b waniention in
‘?ﬁi Bl 7
Chandrayaan-i
) Solar Mission Aditya-11
.'3_ Laguid fuil powerdd rockels
=1 Snlar powered rockels
plect the answor using the eode given holow
8 1nand 2anly
¥ 1, 2and3
Sy Sand 4 only
]
1 1,2, 3and4
26, V hich one of the followi fing is the most
- pruprmlc' veason for aireraft being equipped
= iSwith conducting tyres ?
They can  transfer the charge
: accumulated on their surfaces during
'3 lightning
(b They can iransfer the charge
accumulated on their surfaces being
rubbed by air particles
) They can ftransfer the charge
accumulated on their surfaces due to
inflight operation of several gadgets
B For preventing sparks while they land
on the ground
ich of the following statements for persons
enffering from presbyopia isfare correct ?
They cannot distinguish calours.
1t usually develops with ageing.
They wear either bi-local lenses
consisting of both concave and convex
lenses or progressive lenses,
¢t the answer using the code given below :
ia) 1only
2 only
land 3
{d). 2and3

(9-A)

el 71

29,

30.

A sound wave having frequeney of

100 He in

travolling in an  unknown madinm Its

wavelength is not knowe. Tt travels a distance

equal ta 150 times ils wavelength in Eime

t. The yolie of £ is:

{a) I
by 1=
e} 1b=s
d) 2=

Mission Shaoktt (DRDO) of India is related to

which one among the following ?

{a) Launch of multiple satellites using n
gingle rocket

(b) Launch of heavy satellites

{e¢) Use of high power rockets in launching
of satellites

(d) Use of rocket to destroy an orbiting

satellite

In Sun-Earth system, the Sun, the Earth and

the Lagrange point L4 form

fa) anisogceles triangle
(b} an equilateral trinngle
(¢l astraight line

(d)  asealene triangle




a!i ,H“T,-IL ListT with List-T1 and selbet the corrost

t L -1
(Training Instituie)

. wWational Academy o

Customs, Indirect
Taxes and Narcotics
LRSS National
Academy of
Administration

S,

Audit and Acconnts
“p. All India Institute of
B Local Self

(rovernment

". Code :
A B C

fa) 3 2 1
i 3 1 2
o 4 1 2
{dl 4 2 1

‘Tlag Code-India’.
2, The

at Sarnath,

correct ?

{a) 1only
(h)y 2 only
{t) PBoth1land2

(d} Neither 1 nor 2

U-S8-GKL

National Academy of]

state emblem

of India is

ST UNITg the eode given bixlowy Ll Tadntn

Lint-11
focmfion)
h{'llkuunrln

Shimln

Mumbai

Palasamudram

“Consider the following stalements

1. The Flag Code of India superseded the

AT

adaptation of the Lion Capital of Ashoka

 Which of the statements given above isfare

03.

g4,

35.

not amony the

Which ane of the fallowing s

thematie  areas of National Mission on
Sustninahle Hablitat 7

fn)  Enorgy and Green Building

(b1 Mohility and Alr Quality

e}  Whoste Managemont

(d) Rurnl Planning, Green cover and

Biediversily

Which of the following are the eomponents of

the Indian Legal System ?

1.  Basic valuee and principles enshrined in
the Constitution

& Rightzs and obligations conferred by
ordinary statutes

4, Organizationsal set-up to enforce rights

within the

an obligations

constitutional norms
4,  Legal and judicial persons

Select the answer using the code given below :

(al 1,2,3and4
(b} 1,2 and 4 only
{e) 1,2 and 3 only
{d) 3and4only

Which one among the following statements
about the of Wibrant Village
Programme i3 correect 7

objectives

(a) Itisa Centrally sponsored scheme.

(h) This programme was launched in 2021.

(e} Arunachal Pradesh;, Sikkim and
Manipur are the states selected under
this scheme,

(d)  Villages of Uttar Pradesh along the

Nepal border are selected as flagship

villages under thig scheme,



qiy

‘& Which one of the follawi
36. o lowing UN organizations |40,

‘has nof been aw
hias awarded the Nobel Prizp 2

Arrange the following agreements between
India and Pakistan in chronological order :

1. Tashkent Declaration

! ‘Who among the following stated that ‘A just

RAKU-S-GKL

s WFP
' ILO
& UNESCO
@ UNHCR

37. ‘Which of the following areas has been
& ‘exempted from the purview of the Citizenship
{Amendml}nﬂ A[:t, 20197

(a) Ladakh

(b) Jammu and Kashmir
{¢) The Sixth Schedule Areas
(d) The Fifth Schedule Areas

society is that society in which ascending
" sense of reverence and descending sense of
contempt is dissolved into the ecreation of a
compassionate society’ ?

(a) Vinoba Bhave

" (b) Bhimrao Ramji Ambedkar
{¢) Rammanohar Lohia
(d) Jayaprakash Narayan

Which of the following statements is/are
correct 7

1. Criminal law is exclusively a subject
under the State List of the Constitution

of India.

2. Code of Civil Procedure falls under the
Concurrent List of the Constitution of

India.
Select the answer using the code given below :
(a) 1only
(b) 2only
(c) Both1land2

41.

(d) Neither 1 nor 2

2. Indus Water Treaty
3. Agreement on the Prohibition of Attack

Against Each Other's Nuclear

Installations and Facilities

4.  Agreement on Reducing the Risk from

Accidents Relating to Nuclear Weapons
Select the answer using the code given below :

(a) 1,2,3,4

(b)) 2,314
() 2,1,3,4
(d) 1,4,2,3

Which of the following statements with regard

to the Shanghai Cooperation Organization

(SCO) is/are correct ?

1.  The official languages of the SCO are
Russian and Chinese.

2. The SCO enjoys observer status in the
UN General Assembly.

3. The SCO consists of 13 member states.

Select the answer using the code given below :

(a) lonly

(b) land3
(¢ land2
(d) 2and3

Financial Action Task Force is :

(a) A wing under the Central Economic
Intelligence Bureaun

(b) A division of Enforcement Directorate

(c) A global money laundering and terrorist
finaneing watchdog

(d) A UN Anti-Corruption Agency

(13-A)




1_;@._.1!'115 which of the I'ﬂl]n\\'inp
! " pefore the UN General
:ﬁ_\' two-thirds majority of the
‘and voting is required ?

matters ploeed
Assembly, n rosolution

nmembers present

9. Admission of new members to the UN

.

Election of the non-permanent members
of the Security Coungi]

‘3. Election of members of

2 = the Economic
and Soecial Couneil

.;sel"'ﬂ' the answer using the code given below :

o .I;m
I I

b}

!ﬂ’

fe)

(@ 1.2and3

1 and 2 only
2and 3 only

1 and 3 only

‘Bharat Parv’ was organized by the

. Government of India during which of the
'l]Inwing programmes ?

Republic Day 2024

: National Film Festival 2024
8. Cannes Film Festival 2024

Select the answer using the code given below :
(a)
(b)
(e
(d)

1 and 2 only
2 and 3 only
1and 3 only
1,2and 3

‘Which one of the following organizations
‘challenged the constitutionality of Section 377
of the Indian Penal Code in the Supreme
Court of India ?

{a) Naz Foundation (India) Trust
'(b) Bachpan Bachao Andolan

fe) Sambhav Foundation India
(d) ActionAid India

46,

417.

(16-A)

As per Article 871G of the Constitution of

India, special provisions have been mare with

respect to the state of Mizoram. Accordingly,

no Act of Parliament shall apply on certain
matters unless the Legislative Assembly of
Mizoram so decides hy a resolution. Which one
of the following matters is not covered under
this Article ?

(a) Religious or social practices of the Mizos

(b)  Mizo customary law and procedure

(¢) Administration of civil and criminal
justice involving decisions according to
Mizo customary law

(d) Ownership and transfer of natural

resources

Which of the following statements, as per the

Information Technology Act, 2000, isfare
correct ?
1. This Aet provides that electronic

signature is legally valid in the same
manner as the handwritten signature.

2.  Both the Central Government and State
Governments have been given the power
to make rules with respect to electronic

signature.

Select the answer using the code given below :

(a) 1only

(b) 2only

(¢} Both1and2
(d) Neither 1 nor 2




Which

! ] 48. of

: the following

National Recruitment Agoency i correct ?

It a ; ; .

Eligibili body to conduet  Common
g1ty Tost (CETY to ghortlist the

candi x i
: :(11\']‘1:1&103 ﬁ:1 Vacancies under ‘Group B
nad "Group C’ of the Government

statements about

(a) 18

(b) ]*Im]1iuy'11tent

facilitated

i
n

Private  sector is
all  the districts,

particularly 117 aspirational districts.

(¢) Itwasset upin 2014,
(d) It has been accorded Constitutional
status in 2021,
349, The Research Design and Standards

Organization is the R&D wing of which one of

y the following organizations 7

(a) Bhabha Atomic Research Centre
ib)  Indian Space Research Organization
{¢) Indian Railways

(d) Defence Research and Development

Organization

Match List-I1 with List-II and select the correct

Bl.

b2.

KU-S-GKL

Consider the following statements about the

Vedanta philosophy :

1. Shankara was the founder of Advaita
Vedanta.

2. The philosophy of Dvaita was elaborated

by Madhva.

Which of the statements given abave is/are

correct ?

(a) 1lonly

(b) Z2only

(¢) Bothland?2
(d) Neither 1 nor 2

The distribution of charkhas on a wide scale

among the people was decided by :

(a) Congress Working Committee in 1919
answer using the code given below the Lists : ] -
5t~ ( ndia Congress Commitiee in 192
List-I List-II h)  All India Congress C th 1921
(Speaker of Lok T ) . ; _
Sabha) (Tenure, (¢) Mahatma Gandhi at the start of Dandi
A. Manohar Gajanan 1, 14'" Lok Sabha March
s (d) Al India Congress Committee in 1947
B. Somnath 9 13" Lok Sabha
Chatterjee
C. Meira Kumar 3. 160 Lok Sabha . o
53. The terms used for cereals in the Rig Veda
D. Sumitra Mahajan 4. 15 Lok Sabha ar
C : * . -
oL (a) Godhuma and Vrihi
A B C D
(a) 2 1 4 3 (b) Yava and Dhanya
b) 2 4 1 ¢ (¢) Tila and Khala
fe) 3 4 1 2
(d) 3 1 4 2 (d)  Priyangu and Shyamaka
(17 -A)




4.

Consider y T i
: _t I|:If following Statements about the
condition of widows in thy 18th eentury Ind §
v ry India :
1 Rajn  Sawai i ‘ I
‘ awai  Jaj Singh  of Amber
promoted widaw remarring
.
2.  Maratl
18 Genera] Parshuram Bhau
promoted widow remarriage
3 Raja Ram Mohan Roy opposed Sati
Which of the stat, |
ements given ga
correct z Ry
(a) 1and2only
(b) 1and3only
(¢) 2and3only
d 1,2and3

Consider the following statements about the
administrative measures of Shivaji :
The scheme of Ashia Pradhan (eight
completed

ministers) was and
announced at the time of Shivaji’s
coronation with regulations and duties

properly defined.

Shivaji introduced Marathi in place of

B66.

With reference to the Mesolithie art in India,
eonsider the following statements |

Aloxander Burns discovered the first
rock paintings in India at Sohagighat in
Uttar Pradesh.

wore

V.S.

Bhimbetka rock  paintings

discovered when archaeologist
Wakankar noticed the rocks out of a
train window while travelling from
Bhopal to Itarsi and got off at the
nearest railway station to explore the
site.

The paintings and engravings do not
exist in the same shelter in the rock art
of Orissa.

Which of the statements given above is/are

correct ?

(a) 1lonly
(b) 2only
() 2and3
(d) 1land2

2,
Persian and coined Sanskrit technical|gm [, the decoration of Stupas, what does the
terms for administrative purposes. term ‘Kinjalkini’ refer to ?
Which of the statements given above is/are () Crecpers showing ormaments
correct 7 .
textiles
(a) 1only _
(b) Scarves and saris
(b} 2 only
(¢) Mango shaped pendants
¢c) Both1and?2
(d) A garland of thousand lotus flowers
(d) Neither 1 nor 2
(19-A)

U-S-

GKL

and



-m Which 'af the
: tntements about the

Tollvw ing

coMponoents af ihh 1 (onmider thin fllnwing

i nnrm the correct
A00 Cijagg g | . . |
Ll A"t Sarnath 7 Jent Hindo metal imegen in Indin
1 I F_'hn-ﬂ. (Atniy B
LApRring colump o o o
An- allipti .
I. e ' [
dewing I. el qop POrE = ihe phaeus Bir
tvinid of any CAT i rigs |
Uverflowing iny
abacus

lilin 9

¥ :

¥ashti) or the tall 1 e Chvala, poriod 1s
technical fineape of its

metal sculpture

efted petaln below the The leanography and style of Choln
metal lmages wera similar to thowe of

Select the answ ]
or
WENE the code miven below : thoir stonu counterparts,

(n)  Lonly
: atements given above isfare

(b} 1 mnd 3 only Which of the statements g I
eorrect ?

el 2.and 30“13'

) 1, 2andq 1 only

2 only

Consider the following évents leading to the Baoth 1 and 2

Indian Independence | Neither 1 1ot 2
Lucknow Paet

Return of Sublissh Chandra Hose-to Which one of the following terms was used for
Sl the States in the Draft Constitution presented

by Dr, BR. Ambedkar on 4" November,
1948 1
tal’  Union of States

Cripps Mission
Naval Mutiny in Bombay

Select the chronological sequence of these
events (earliest to latest) from the ¢ode given {b) Federation of States

below :
() Autonomous States
(a) 4,3 2,1

(b) 34,201

{d) Subsidiary States

(e oy @tk . The antariya was n garment worn by people

() 21,84 during the Mauryan period. It was :

Who among the following were famous for (a) an unstitched length of cloth draped
their metol-casting skills and used to cast around the body.

excellent matchlocks during the medieval {h) a sewn garment consisting of a sleeved

period ? tunic,
{a) Marathas a head covering used exclusively by
(b} Rajputs women.

c) Ahoms made of strips sewn together tied at the

(d) Gonds waist with a cord,

RAKU-5-GKL




onnider the 1'nlluwing
peferemee to the Uipingg iy
_ i
] Avantivarman, 1l g
',ﬂnpgiﬂﬂ to tha LAlh ]
his subijects, .

mhat tmenta  with
BLY ol K abumiy -
windey, dvvated hia

D upliftment of

Avantivarman's
known for tha
under his minis

;Eud in Kaghmir in
NELriE sporationg

::: Suyya, raslting in
86 ol grains and fall

i prices.

'i.'f|1;k'h afl” the slalemg g

correct T s given whove iware
() 1 only
B 2 only

(e} Both 1 and 2
() Neither 1 ngr2

consider  the tollowing patrs of High
Offices: and coneerned Departments in the
Mauryan Administration

Chief Collector of
Revenue

Chief of Army
Recorde-cum-Audit
Officer

Treasurer

1. Samahartri

Daurarika
Akshapeatala

4, Samnidfatri
Which of the pairs given above are correctly
matched ?

(a} 1and2only
M 1, 3and 4 only
(¢} Sand4 only
id) 1,2,3and4
Which  kingdom = was described by
Governor-General Lord Dalhousie gs "A oherry
that will drop into our mowth one day”?
(a) Delhi

(b) Awadh

Jhansi

Gwalior

Connider  the  Tllowing platamants

roforonos to Conaun in Trchim 2

o i ha first Al Iodin - Cedsus WS
attompted in AT
From 1881, deconnisl consuses bocmo o
regulnr featiire.

Which: of the statements giver above jsfarc

corredt

{a) 1 anly

(b) % only

(e} Both1l and 2

Neither 1 nor 2

Which of the following etatements isfare

correet 7

1. During the Second Round Table
Conferonea hald in London in 1831, the
British Government refused to acespt
the hbasic nationalist demand for

frecdom.

India was granted dominion status in

1932,

Viceroy Lord Willingdon adopted a

policy of reconciliation with Congress.

4. The Civil Disobedience Movement was
started with the breaking of salt laws,

Select the answer using the code given below ;
{a) 2and 3 only

(h) 4 only

() 1anddonly

(dy 1,2and4




i ] i
L “‘Imil 2 thy I"“h\\'ll'll-!

Cinbinet Midsion siry LIRS
L4

LINTTE "lhi*m "
o

st

T

i It was gent 1o India i
the tronsfey
lenders,

i V1046 s negotinge
POWer wiy) the Indian

o It proposed g twoetip,
while cionceding thy |
regional Autonomy:

md ﬁ-‘del"ﬁl. p]_an
ATEest mensure of

g There was tg be g federatig

; n of i
and tates, ﬂlﬂqp;ui provinces

b : dé a federal contre,
@ mditudual Provinces were allowed to
form regional unions 1o which they could
coul

surrender some of their powers by
mutusl agreement,

Select the answer using the cods given belaw :
(a) 1anddonly
by 1,2and 4 only =,
£} 2,3 end4only
(d) 1,2,3and4
70. Consider the following pairs:
Grajapatt Name of a powerful

Dynasty in Orissa
tshvapati — Deccan Sultans

.'1'.|.".rjI|J'|"!I = Rﬂ-}'ﬂsnfﬁjwmara

Which of the above pairs isfare correctly
matched ?
{a) Yonly
{b) -2only
(¢} 1,2and8
{d] None of the above

(25-A)

PAKU-S-GKL

Which of the [ollowing pmrs of Himalayan
Glaciors and thuir lgeation  isrs correctly

mntehed T

1. Sinchin - Nubra Valley Reglon

2,  Chungphur - Kumnon-Garbwal
Hegion

4. Zemu Central Nepal Rogion

4. Gasherbrum — Pir Panjal Range

Salnit the nnewer using tha cofde given bl 5

{a) 1 only

(b} 1and2
(¢) 2and3d
(d) dandd

Congider the following stalements regarding
the rivera of India ;

1. The Barak River, the head stream of the
Meghna, rises in the hills of Meghalaya.

2 The Ghaggar River does not drain out to
the sea and pets lost in the Rajasthan
desart.

3, Puthimari and Manas are important
tributaries of the Brahmaputra.

Which of the statements given above is/are

correct 7

(). lonly

by 2only

ey 1land?2

() 2andd




Considér ths i
'“I-"Wmﬂ bRttt Fratonthenes, a Chresld philodopher monanred

v roepnrding

transporta e -
: Hon - functions  associntod  with the Enrth's circomferonce based on the angle

important ports : of Bun rays at two different points Whieh

=i sitied were thay 7
1. Hngapere functions bath e o port of enll S ol

and An entrepot, {a) Alexnndrin nnd Syene

Karwar in India i« an example of a IRy

naval port, (¢}, Alexandrin snd Troy

- (d)  Alegondrin and Thebes
Dover in England is an example of an

outport.

2 ] Which lind' of mass wasting processes nre

Which of the statements given ahove isfare commonly associnted with creep ?

parkact 3 {a) Fastspeed with soil

(a) 1only (b} Slow speed with rock

bib). 3 only (e} Slow speed with ice
(e} 1and3 (d) Slow speed with soil

(d) land2 Consider the following statements
. . ) 1, Hadley cells are key to understanding
. Cumulonimbus clouds develop from which the wind patterns of Earth.

] - ?
among the following clouds ? i Hadley cells are formed becanse the
Equator is heated more strongly by the
Sun than other places, creating thermal

circulations.

(u) Cumulus congestus elouds
(b Cumulus and Nimbostratus clouds

[ #
() umulus and Altostratus clouds With regard to the statements given above,

(d) Cirrocumulus clouds which of the following is correct ?

iy {a) Both the statements are correct and
" Which of the following Ramsar Wetland sites statement 2 is the correct explanation of

'iu not situated in any of the Union Territories statement 1,
of India ? Both the statements are corrvect, but
statoment 2 is mot the correct

explanation of statément 1,

Hokera Wetland
Point Calimere Wildlife and Bird
) Statement 1 is correct, but statement 2
Sanctuary ;
14 false,

Tsomoriri Lake Statement 1 is false, but statement 2 is

corréct.
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ks aboye,
ar  Bothi the Statemeny
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whiclyof the ﬂ}"n'wj“g'i'h

Are COrrept and
PErect explanation of

) Both.the stattmenty ara
statement 2 iz nﬁ3 th

explanation of statemeng 1.

¢} Statement 1 ig Wrract .
15 false,

but statement 2

Statement 1 is false, hut statement 2 g
correct, : L

gp. As per India State of Forest Repory 2021,

which one of the ﬁ;l]]nwinfg-ﬂtatgs'i_:g noi among
he top three with reference to masinium srea
r forest ?

Arunachal Pradesh

Chhattisgarh

Madhya Pradesh
d)  Maharashtra

§l. How is strong msmmﬁmt fﬂmﬂﬂniﬂd
on a weather map ‘.i'

Closely spaced isobars,

Widely spaced isobars

Closely spaced isnhh#ﬁ:_#ﬁlﬁnﬂﬁghm

A set of two widﬂ]yspnm&ianbarﬂ

followed by two dunehhﬂpilﬂﬂﬂiﬂﬂbﬁﬁ

(29-A)
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Which one of the fallawing ia nef an -!:nmph:

of chimbcal wenthering 7

tak  Acid netion

(k) Hydrolywin

() Salt Crystal CGrovwth

(dl  Oxidation

Which of the following statements rogarding

Arc Voleanoes isfare corteet s

1 Are voleanoes are-found pear divergen -
plate boundaries. i

= Bome of the world's dissical exan "

cone-shaped stratovoleances, =ucl k" -
Mount Fuji in Japan, Mayon in the
Philippines are Arc volcanoes:

3, Some of the highest voleanoes on Earth
are of the Arc type, notably Nevado Ojos
del Salado in the Chilean Andes,

Seloct the answer using the code given below

(&), 2 only

{b) 2and 3 only

fe) 1and3donly

(d) 1,2and3

Which one of the following statements !

regarding S-waves is mot correct ?

fa)  S-waves are slower than P-waves. !
(b} During an earthquake S-waves ure less |
destructive to structures like buildings
and highway overpasses, |
{¢) S-waves can travel only through solids
and cannot travel through the Earth's
outer core.
(d) Seismologists have concluded that the

Earth's outer core must be Hguid or
fuid.




h of the fiu)

Wwhie

B .qngn Dasin? Ingy o
Chhattisgug), PATL nf 1y g,
Himachnl P'r':u.lt'iinl'u
Ramsthan

aolect the answier Ugin
- B 1
1 only he cody EIVOR biyjgy .
1'nnd 2 only !
2 and 3 only
4 1,2andg
which peninsular Tiver kg .
e
Kabini’ 7 Wibutary nameq
al Godavari 80
) Krishna '
¢} Mahanadi
i) Kawveri
§l. Consider the 'ﬁ‘_l]lu-wing ﬂtﬂtﬂm&nﬁ ;

1. Bajra is predominantly grown ey
like Rajasthan, Uttar Pradesh and
Gujarat, while Ragi is mainly cultivated
in Karnataka sand Tamil Nady,

2. Bajra grows weﬂ'in'aan‘dy and shallow
black soils, whereas red and shallow |90.
black soil is suited for Ragi,

With regard to the statements given ahove;

which of the following is eorrect

2 DBoth the statements are torrect and

statement 2 is the correct explanation of
sfatement 1,
bl Both the statements are correct, but
statement 2 is  mof ithes correck
explanation of statement 1.
: ment 2
¢ Statement 1 is correct, but; atntﬂ
is false. 2
_ (ot statoment 2.4k
(d) Statement 1 is falsé; hut state
correct.
(81-A)

RAKUS.GHL

Which of thie following peaki are situnted in
Lisekin 7

1, Dhailngicd

2 Mnmcha Barvwa

4 Kamet

4. Mnlealu

Select ths answor using the eode glven balow
(A) 0, 2nand 3

b)) 1wand3only

fe)  2and 3 only

(d) 2 and 4 only

Which of the following statements regarding

River Rhine isfars correct ?

1. 'Rhine River is/an important pathway for
industrinl activity in northern Germeany

2.  Port of Rotterdam is located at the
mouth of the Rhine River.

Salact the angwer using the code given below -

{a) 1only

(b} 2 only

{c) Bothland?

{dy Neither 1 nor 2

With reference to the continent of ‘Antarctica’
which of the following statemunts are correct 7
1. Itislarger than Europe in terms of area.

2. It has the highest average elevation as
compared to all other continents.

3. Mt Ross is the highest peak of this
continent.

4,  Waters of the Southern Ocean (West |

Wind Drift) move in an anticlockwise
direction around it.

Select the answer using the code given below -

{a) 1and2only
(b) 1and3only
tey, 1,2 and 8
(d) 2 8andd
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the statements

1 only

2 only
Both 1 and 2
Neither 1 nor 2

o msider the following mm i

An addmnrral
n.m-;f'er of TX tuhgugahpm TE
; An additional =spendis by the|ge,
Government of & X! lﬂiﬁyh Jvﬂm
impact on income H'. i!tv is  not
accompanied by an a:panﬂgn in money
supply.
Thich of the statements given above isfare
rrect 7
& 1only
b 2only
Both 1 ﬂ.ﬂ.d 2
' Neither 1 nor 2 :
m g (33-A)

& 'I:.:KL

L H

- Term

Lerw  Erioniona  Development

B
SUralegy nnvisions

! A transitio { facts b & i

emooth, stistoino

z inersaned v
A

i tlimate remine
4

fionneing of sustninabl
“‘!I‘I'I.mh Green Bond
Beluet the anawer ustng the gode given belew

{8 1 and 2 only

bl 1,2and 3
] 2and 4 only
) 1,3 and 4

Which ons smong the following was the focus

(of the Twelfth Five-Yoar Plan ?

(a)  Sustainable and Inclusive Growth
(h) SD'I:IH.] Justice and Equality

i} Food, Work and Productivity

(d)  Attainment of Self-reliance

Which' of the following is not ncluded in the
Capital' Account of the Balance of Payments ol
i country ?

{a} Foreign Direct Investment

(b}  Commercial Borrowing

{e)  Invisibles

(d) External Asslstance

"I"f;e Atmanirbhar Bharat Scheme snnounced

by the Government helps in :

I;. FEphancing  India’s  manufacturing
capabilities and exports neross the
industries

2 [ncentivizing foreign investments for
domestic production

Gelact the angwer using the code given helow

(n) 1only

(b) 2only

(¢) Both1land2

() Neither 1 nur 2




I ithin fol 1iF) ik el
jkhibirigm dn potition s
(g Leg I

e market  price must b
equal ta pVErRpe wapinbi
abiort run,

grantar or
cort @6 the

e Mmitkot prioe must be equal o
mnrginnl cont.

w)  The market Price must be egual o)
Bverage coit inc the long run;
(dl ~The marginal eopt' decresses. at the

eiquilibrium output,

Which uﬂlé of the followlng taxes is mof
included in ‘the -Cortral Pool to be shored

with the States according 1o the
recommendations of Finanee Commission of
Indiz ? '

{a}  Personal Income Tax

(by  Corporate Profit Tax

{e} Surchargeand Cesz

{dl Excize Dutieh

- Which one of the following dimensions is nof
included in Human Development Index 7

ta} Life Expectancy at birth
{b)  Mleun years of schooling.
fcl  Expectod yours of schooling

id]  Martality rate

, Suppose there are only two nermal goods in
the economy, ¥ and Y, H price of good X
increnses, which would be the correct
slatement T L
{a) D pgoud X deereases and

de indeterminnte,
vod X decrenses and
X increnses and
increases and
sed from 100 in 2021

1 2023, then the rate of

Hre

103,

104,

|38

-A)

The Rangurnjan Cammittes mwrthndalngy for

dotarmining  the poverty line Ineorporated
which of the fallowing 7

1 A fored componant

i A pormati
eagemtind non-

3 A behnviournall;

forigther non-food itor

Belact the answer aping the code g

thY 1 and Lanly
{by '2and 3 only
(el LiZend3d

(d} 1and3only

Which ene-of the following s ot o fund
mannged by NIFL (MNatioonal Investment
nnd Infrastructore Fund Limited) ?

{a) Muoster Fund

(b} Fund of Funds

{c) Strategic Opportunities Fund
(d} Global Investment Fund

Pandit Deendayal Upadhyay National Welfure
Fund was established with the view to help
which one of the following groups ?

la)  Medical Practitionees

i} - Farmers

(¢} Spartspersons

(d)  War Widows

Which one omong. the following items

comprises the major portion  of revenua
expenditure of the Union Goyernment of
India

(a}  Salaries

(b} Interest Payments

(¢} Roid Transport and Highways
() Defence Serviges
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107. ‘' Which' of {ha

following
Indian medipjn, ”wmq i:t.“lﬂl_'lgnm relfited 1o
(8} The Siddy tOF toryect 7
urh'u!dilzm lmm:& 4 hﬁliﬂﬁc fvetem
th SUWQ-R,'EP& hins _
Himﬂjﬂya_u m:;ﬁ":!:::lzinprlﬂlhm in the
©) Unsni gygtem os n.u.ﬂfm
dissociuted from ga tedicine hne pean

) Stghrapy Samhity iy
Ayurveds : Maor monres of

108, Which' one of the Iy wiiomy \
correct about NIg -nw‘{:?gﬁ'?mm is

India initiatjye =t © Bovermment of

a) Tt 8 triining  mpdyle racen
;‘;ﬁ‘ﬂd"ﬁ@d m LBSNAA for civil

rvants.

b} Itiswa teacher-training programme.

(c) H‘.:;l":ﬂ_.t_fﬂﬁh!& programme: [or the new
recruits in Delhi Police to inculeate
integrity of service among them,

id) It s n workshop for newly elected
Members- of Parlinmen!  organized
routmely by the Lok Sabha Seeretariat,

108. Arrange the BRICS countries in ascending
order’ of their rank in  the Human

Development Report 2023-24, relsased by the
UNDP ;

1. China
2. India
5 Ruwia
4. Brazil
5. SouthAfrica
Eﬂmﬂ’ew using the code given helow -
@), #5413
sJd]y w‘}_ﬁi&‘ 1
i *.'."gj"E, 1
__gr 1,4

(37

110, |]I1I‘l|l1 hll_f figred  » Trade and Frnmamis
Partnership Agraamont (TEFAL with BFTA
whish s B, rigional grup taraliting of byus
fountrion. Which  ote of the  Fallivering
folrtries iw ot metmber of this grovp
) Bwitrarinnd
b Norway
o) Teolamd
) Englund

111, Which ong of (he following countries ahnres
the territerial boundary with both Rusals and
Ukraing %
fal  Estonia
(B Latvia
(g} Belarug
(d}l Polang

112, In June 2024, India signed 3 Memorandum of
Underétanding  (Mol')  with  USA  fur
supporting  Tndisn  Ruilways achipve
Miggion Net Zoro Carben Emission by the
year:
fah
(B}
(e
{d)

ko

2030

2040 [
2060

2070

113, Which one of the following. statements is

correct nbout the PM-JANMAN scheme 7

@) It is a schome of the Government of
lodia to impart electoral literney to
vioburs,
It 15 a:scheme:of the: Government | of
India for decpening of dismocraey in the
functioning  of  Panchayati Ry |
institulions, {
It i8 & sehema’ of the Covernment. of |
India for benefitting every member of
this tribul community from Government
schimiay, |
W 45 & scheme of the Government of |
Indin: for benefitting migrants workers |
in the unorganized sector,

{h}

i

Al
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y .'h:n-'ll-!:l_r Awiard 2004 in the Hast Firtiire
L]
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" EPR, which

te) - Anntory of n Fall

2 M8 the . g, ;
Buumu“" BHi o Dot thi! Oppaneimer
(b} Harjy Sarne fe). Hurkly
C»B-I'h{:m j mma o ﬂ.l-‘hid!';inﬂ Aaory (el Killern of tho Flower Moem
FUO Bty Guel, ;
e . rM&Dﬂmﬂ ig 118, India® first dedicnted QP for  the
2 misgjny aunclied 1
Minm-l? of | p; T t Transgendurs was vpened ot which fne Sy
Wslerwdﬁ"!l ' S!llpplu,g A the following haepitals 7
e o ROl Tndin, 4 E - ATTMS; New Dialhl
1DCTARY flah qr . Al - ATTMS, New
() Costy s L. (b} PGIMER, Chandigarh
0, ] iC T 2
Serdng i the firgy intarnatior] wl KOMU, Lucknow

Eruige | ; o
e () RML Hospital, New Pelhi
A% TSRO, in ts Atudies, has revegleg that there = 119, Which bne.of the fullowing statoments abont

B 178, Increass jp the gfza BEtha Gheparg TNS Tarmugll iz nof coirect |

(Ghat Glueia) Lake. In which of this following () :‘L:ar:di.::;l:::k eraft commissioned by
StateclTe is thie i, e i :

815 this luke foeated 2 ’ (b) It wag commissioned at MNaval Dockyard,
(o) Jammy g Kazhmir Visakhapainam.
(b} Ladakh led It was given by the Government of Indin

to Sri Lanken Npval Force in 2006
and returned to the Indisn Nivy in

e} Himachal Pradesh

(dl  Uttarakhand My 2029,
i W Ttz supposed to be used - for constal
116, Which of the following State/s is/ara; commaon surveillnnes,

to Hru-Rmmg,r_ Agi'um:_wul, NLFT (81

E 120, Which one of the fallowing rezalubions in the
F Apresment and Tripartite Agrepment with fimal  Wpreoment reached . ot COP28 (s
. TIPRA? associated with (he target of achieving ‘Net
NN Zero by S05(F ¢

fa) Tdﬂm tat " "Fossil fupl phass.out

bl ‘ARsamrand Tripira (b} Methame entssion puts

{e}  Tripura and Mizoram o ter - Global gonl on adunptating

() Manipurnad Migorim : ) Climute ailienee

RAKU-S-GKL i




